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KM 4 g [ |5 (A) | R [ & (B) | HE# | EF(A+B)
T 2, 493 -3 2, 759 4 2,833 -6 5, 592
T —TH 988 7 905 4 785 1 1, 690
PR — T H 582 1 540 0 555 1 1, 095
e =T H 639 3 688 2 642 1 1, 330
JHPTETIUT H 471 -6 486 -7 506 7 992
4R T H 333 2 352 1 320 1 672
JHPTHT ST H 307 -1 368 -1 379 ~1 747
Lo HT 208 0 200 0 208 0 408
=a 380 -1 438 ) 449 0 887
T H 1,911 9 1, 962 1 2,029 7 3,991
PIHTHT 331 -2 331 -1 318 0 649
Hh T H 925 —/ 981 -6 950 -2 1,931
HT—TH 280 -3 341 —/ 390 -1 731
T — T H 329 1 401 -2 421 0 822
HHT=TH 494 5 643 3 632 0 1,275
BT B 290 -1 397 0 382 -2 779
A 234 0 259 -1 249 -1 508
] = 290 0 342 ) 325 -1 667
— K 449 3 457 5 462 4 919
— YV AREH—TH 0 0 0 0 0 0 0
=YAREMTTH 32 0 43 0 43 0 86
GIEL 106 -3 121 -1 114 ) 235
— Y KHH 6 1 7 2 6 1 13
KH » 5 678 -1 847 3 853 0 1,700
k4> 4, 092 -458 4,332 —430 4,531 -464 8, 863
IR 3, 952 -708 3, 666 -766 3,712 -788 7,378
i — 1T H 461 461 435 435 464 464 899
i T H 705 705 751 751 785 785 1,536
E A 1,421 -1 1,502 —4 1,531 -2 3, 033
i) 5 0 7 0 6 0 13
E2tR—TH 902 -1 750 -6 904 -2 1,654
=LA _TH 1,105 4 1, 044 6 1,116 2 2, 160
BH5HR=TH 835 -3 742 —4 814 -2 1, 556
= LRI TH 695 -3 666 -6 699 -1 1, 365
ELtRATH 697 -2 730 -4 651 0 1,381
B ERANTH 0 0 0 0 0 0 0
8 1,874 4 1, 864 0 1,776 4 3, 640
¥y —T1H 280 4 289 2 296 1 585
Wy _TH 239 -2 243 -5 242 -2 485
sy B ="TH 440 5 426 0 447 2 873
¥ DU T H 692 0 647 -2 714 ) 1,361
sy T H 414 -1 469 1 486 ) 955
mEiT—TH 252 0 290 -2 321 -3 611
FEET T H 575 3 555 2 603 -1 1, 158
PRI =T H 194 0 181 -1 233 0 414
2} 32, 586 14 33, 457 —43 34, 182 -20 67, 639
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